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Note : This paper is of eighty (80) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the principle of indemnity of insurance.  

Does this principle apply equally to all kinds of 

insurance ? 

chek ds {kfriwfrZ fl)kUr dh foospuk dhft,A D;k ;g 

fl)kUr lHkh chek vuqcU/kksa ij leku :i ls ykxw gksrk gS \ 

2. What factors would you keep in mind while selecting 

an appropriate Life Insurance Plan ? 

,d mi;qDr thou chek ;kstuk dk p;u djrs le; vki 

fdu rRoksa ij /;ku nsasxs \ 

3. Explain the following : 

(a) Group Insurance 

(b) Annuity 

fuEukafdr dks le>kb, % 

¼v½ lewg chek 

¼c½ okf”kZdh 

4. What is Fire Insurance ? How is premium determined 

in Fire Insurance ? 

vfXu chek D;k gS \ vfXu chek esa izhfe;e dk fu/kkZj.k dSls 

gksrk gS \ 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Describe the origin of Insurance in brief. 

chek dh mRifŸk dk la{ksi esa o.kZu dhft,A 

2. Define Insurance Agent. What are the various types of 

Insurance Agents ? 

chek ,ts.V dh ifjHkk”kk nhft,A chek ,ts.V ds fofHké 

izdkj dkSu ls gSa \ 

3. Distinguish between Nomination and Assignment. 

ukekadu rFkk leuqns’ku esa vUrj Li”V dhft,A 

4. What risks are covered in Personal Accident 

Insurance ? 

oS;fDrd nq?kZVuk chek esa lao`r gksus okyh tksf[kesa D;k gSa \ 

5. What do you mean by Life-Fund ? Describe its 

importance. 

thou&dks”k ls vki D;k le>rs gSa \  blds egRo dk o.kZu 

dhft,A 
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6. What is term Policy Insurance ? Explain its salient 

features. 

vof/k i= chek D;k gS \ bldh eq[; fo’ks”krkvksa dh O;k[;k 

dhft,A 

7. Define Double Insurance. Explain its role in Insurance. 

nksgjk chek dh ifjHkk”kk nhft,A chek esa bldh Hkwfedk dh 

O;k[;k dhft,A 

8. What is Fire Insurance ? State the similarities between 

Fire Insurance and Marine Insurance. 

vfXu chek D;k gS \ vfXu chek rFkk leqnzh chek dh 

lekurk,¡ crkb,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Select the correct answer : 

lgh mŸkj dk p;u dhft, % 

1. “The collective bearing of risks is Insurance.” Whose 

statement is this ? 

(a) D. S. Hansale 
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(b) John Magee 

(c) Sir William Beveridge 

(d) None of the above 

ßchek tksf[ke ds lkewfgd ogu dks dgrs gSaAÞ ;g dFku 

fdldk gS \ 

¼v½ Mh- ,l- gUlsy 

¼c½ tkWu eSxh 

¼l½ lj fofy;e csofjt+ 

¼n½ mi;qZDr esa ls dksbZ ugha 

2. New India Assurance Co. is a : 

(a) Life Insurance Co. 

(b) General Insurance Co. 

(c) Both (a) and (b) 

(d) None of the above 

U;w bf.M;k ,’;ksjsal dEiuh fuEufyf[kr esa ls D;k gS \ 

¼v½ thou chek dEiuh 

¼c½ lkekU; chek dEiuh 

¼l½ ¼v½ vkSj ¼c½ nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

3. In Marine Insurance, Insurable Interest is enough at the 

time : 

(a) Maturity 

(b) Insurance 

(c) Loss 

(d) Claim 
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leqnzh chek esa chek ;ksX; fgr fuEufyf[kr esa ls dc i;kZIr 

gksrk gS \ 

¼v½ le;kof/k iw.kZ gksrs le; 

¼c½ chek ds le; 

¼l½ gkfu gksrs le; 

¼n½ nkok djrs le; 

4. The Head Office of National Insurance Co. Ltd. is 

situated at : 

(a) Kolkata 

(b) Mumbai 

(c) New Delhi 

(d) Hyderabad 

us’kuy bUk’;ksjsal dEiuh fy- dk iz/kku dk;kZy; fLFkr gS % 

¼v½ dksydkrk esa 

¼c½ eqEcbZ esa 

¼l½ ubZ fnYyh esa  

¼n½ gSnjkckn esa 

5. When the same risk and subject-matter is insured with 

more than one Insurer is called as : 

(a) Double Insurance 

(b) Over Insurance 

(c) Re-Insurance 

(d) Under Insurance 
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tc ,d ls vf/kd cheknkrkvksa }kjk leku tksf[ke ,oa fo”k; 

oLrq dk chek fd;k tkrk gS] rks og D;k dgykrk gS \ 

¼v½ nksgjk chek ¼c½ vf/k chek 

¼l½ iquchZek ¼n½ vYi chek 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

6. There is no distinction between Insurance and 

Assurance.  (True/False) 

bUk’;ksjsal rFkk ,’;ksjsal esa dksbZ Hksn ugha gSA ¼lR;@vlR;½ 

7. Titan Insurance Company Ltd. was established in 

1850.    (True/False) 

VkbVu bUk’;ksjsal dEiuh fy- 1850 esa LFkkfir dh xbZ FkhA 

    ¼lR;@vlR;½ 

8. In Marine Insurance the chances of moral hazards are 

very short.  (True/False) 

leqnzh chek esa vkpj.k lEcU/kh ladV cgqr de gksrs gSaA 

    ¼lR;@vlR;½ 

9. The principle of indemnity does not apply to Life and 

Personal Accident Insurance. (True/False) 

{kfriwfrZ dk fl)kUr thou ,oa O;fDrxr nq?kZVuk chek ij 

ykxw ugha gksrk gSA   ¼lR;@vlR;½ 

10. Endowment Policy and Whole Life Insurance Policy 

are the same.  (True/False) 

cUnkscLrh chek i= ,oa vkthou chek i= nksuksa ,d gh gSaA 

    ¼lR;@vlR;½ 
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